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11.5 Perfect hashing




hash functions i have a rather simple description since they are completely
determined by the value of k. Since k € {1,...,m}, this description can be
encoded into a key value in M = {0,...,m — 1} and stored in a single cell in the
table. (The function hy is identically 0, and this is why we choose k from the
set {1,...,m} instead of from M.) The fo lowing lemma summarizes the cﬁﬁ |

property of these hash functions that m
b; < 2, we define ("') tobe 0.
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/1.2 Hash tables
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